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With thought - 2R

Overview
The X213 states that 7mn can be taken 7awnna. Our MoON discusses what this
means.

- 29997 XYY 29 YY N AT 1890 YINY NN DWY N1 183 19399 1NNV DI0NDA W
''w9 explained that he directs his eyes to one side to designate the produce there
for the sake of 190, and he may eat from the other side, and even though he

did not actually separate the 72170 from the P91n. This concludes *"wo -
= AYH9N NDA DIIND 1YW AVUNN 29N5T DIVN 9D NIV yNRYn

It seems that >"w1 wants to say that since the 7710 writes 'awmY', it is permitted

to eat the remaining "> without separating the 72170 from the 71 -
- AUNM PRPOY AT YY) NT T8 19358 NIV 215 Y NPINIVA 33 1359

And it is also permitted to declare it 72170 silently by directing his eyes to one
side (without saying that this is 7717n) and all this is derived from 'awmy' —

mooIn concurs (partially) with *"ws:
= (1 mwn /R pA9) NN NN 1INTN NMIN N ) N XYY INTY 1)

And indeed it is certain that even without speaking it is 72190, for the mwn

taught in N0 noon -
= QYN 2YUN RPI NN 1112990 195 ONY 13995° XY HWNRN

Five people should not separate 7170, but if they did separate, their 72190 is a

valid 790, and the 71272 mentions a mute as one of these five people —
= 15993 DIVYN NNPYL NIDWITA W9

And the 25211 790 explains the reason why an 09X should not be 27N,

because he cannot make a 7992 on the nw1o; otherwise (if a 7972 was made) the mwsn
can be done 72wnn2 -

- 29 2573 %55 523 199N 993 (3,12 97 MIMAYT /) P92
And in the third P25 of myiaw noon, the X also states regarding the 705 of 92

' mawnna At

? There is a pile of grain before him; he may look to his right and decide that a certain amount of this grain (on his
right) will be 7m0, and afterwards he may take the grain on his left side and use it as 171, even though the 7m0
grain was not separated (removed) from the pile of grain.

3 mooin is saying that *"w7 derives two rules from 'awn'; first that the 770 need not be separated physically from
the rest of the produce, and also that it can be designated as 770 through mawn» alone without M12*7. We derive
both these rules from "2wn1y', that one only has to think, meaning he need not speak and he need not separate.

425,79 (9p™) Nnw.
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2% 271 (all whose heart donated) -
- PNOYA NN RYY 29 5Y AN 1253 913 1P3¥9 TAND PN 12N %Y “OIWTD 11190 WhT

That 7190 and 2°w7p are two 297102 that teach the same thing, regarding one

who made up his mind even though he did not utter it with his lips, that by 7170
and 2°w7p it is considered as if he said it, but since they are 71X 1PX27 17213 2 -
- SA3naw 119931 199999 X9

We cannot derive from them regarding an oath that it should be binding 7awnn2.

mooIn agrees with *"w regarding 7awnn that it is sufficient by 72170 and it is derived from 2wnn.
However moo1n seemingly disagrees with "1 regarding 7197 (physically separating the 772170)
that it too is derived from 2wn.

- 'RnYY 19199 RPOD PR AWADN K2 9IINY 1ay9)

However regarding eating the 17117 without the 77270 being separated, all agree

that there is no concern and one may eat the 15117 without w1977 -
- ©YP1 593 59¥7 "awng 173 2905 KT MAYYNN Y93 199N

Even by all the nwy» (not only by 7m17n) where 2w is not written by them,

for it is always permitted to eat the P71 -
- 299 Y9I PN NNYY 9 Yy 9N

Even though that now he is not (physically) separating anything —

mooIn proves that 7w157 is not required even by Mwyn -
- N15Y 59199 YU (13 47 ry5) DITAN 1231 122 APIYNT NINN NOINTD

As it is evident from the case of one who buys wine from the 23012 that it would

have been permitted according to everyone to drink the wine without physically

separating the 2"17n in the barrel. Everyone would permit it -
= 1129972 IN 199N 9DINYI 1359V 2V HUYNIY TN NYIPA IN N993 0IVN INT IN

> By 7N it states 2w that it can be taken 7awnna. By ow7p it states 2% 2771 93; once he made up his mind to give
for w7pn he must give it, even though he did not say he is donating it.

% The X3 there explained that for a 7912w to be valid it must be said, but by thinking alone, the 7912w does not take
effect. We cannot derive from 2>w7 7170 that it should take effect even by i1awnn (as the case is by @w7p1 m170),
because they are 7R3 0°X277 2°2113 2 and nothing can be derived from them. It is evident from that X3 thatiawnn
alone is sufficient to make it 72370 (and this is derived from "awna').

7 The w7 of 2wnn which allows one to be 27N with 72w and 7282 is stated by 3"axK, however regarding w97
all agree that it is not required and we do not derive it from 2wnn.

8 The 2109 of "awnn' is written by Wwyn NN (which is similar to 72170), but not by wyn.

? The case there is when one bought a barrel of wine from the 2°m3 (whom we assume that they are not 210 o)
and presently he has no vessels in which to place the 1n"17n should he wish to do so, »"9 maintains he could be 270
the #1170 while the wine is still in the barrel and drink the wine and he will separate the »"17n later when he has the
chance. Other o°xin disagree with him, either because since all the wine is mixed in the barrel we say 77"2 7R, we
cannot verify which is the n"n and which is the P2In, or (even if we maintain 77°32 @) it is still forbidden for
perhaps he will drink the wine and the barrel will burst and the »"17n will not be separated later. w"»y.
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If not for the concern because of 17792 or the bursting of the barrel, and
regarding @''y» we permit eating the 1211, when he says the v"yn should be
from the produce which is in the north or the south side of the produce."

mooIn agrees with >"w7 that 72170 may be taken without 7197, however it is not derived from
'2wnaY, and it also applies to all »"17n.

NN asks:
= DAV HMIIN 12D22X10 PPN INAR AT TN 1720 IMIYWI 12199 29T 192 99NN ON)

And if you will say; since it is permitted to be 772190 270 when he looks at one

side and designates that for 70, why cannot we separate 772190 on naw -
- Mangm) /N3 ¥119N DX PP GR MIN NN /9 Gxnp 41 TON P93 NAY NN 1IN KDY

For the mw» taught in naw noo» in Y pas that °''~ maintains that we can

raise the ¥»7» if it is one in a hundred -
- Byonnp 8 ¥x9093 79999

And the X713 there asks; ‘but he is fixing’ the food -
= T 782 DOINY NT T8 1230Y 1) 9NINT ATYIN 12 1WAV 2395 9207 VUM

And the X773 answered that °"1 agrees with X''2w= who states that in such a case
of ym71 he looks at one side (and designates it as the 7170 to be given to the 172)

and he may eat on the other side -
- Bnawnna Awon 3 X9 ¥hawnmna 9WaNT 199 17591RvYa NAYA 17NN 2PYN XY 5909

So therefore according to X"2w" it is not considered j»n» on naw when he
removes the XD, since it is possible for him to be jpn» only with mawnn; the
question is but here too it is possible to be 712wn?2 07N so why is it prohibited ?!

mooIn answers distinguishes between y1n171 and 7m17n:
= 1IN NN 925V YY1 SINYT 911D W

And one can say that =172 is different from 52v, since the vy was already

' However by the wine since it is a liquid he cannot designate a place for the n"y2n since it will become all mixed up.

" The rule is that if a 780 of 72110 is mixed up with one hundred 780 of 17171 (this is called ¥»17), the entire mixture
is permitted to be eaten, provided that one 1X0 is removed (and given to a J72). °"7 maintains that one may remove
this XD even on N2w.

12 x,2mp.

¥ Without removing the 7X0 it would be MK for a 7 to eat it and now by removing it he is Jpn» the food, which is
prohibited on naw.

'* There is no prohibition of wnna Jpn», since he is not doing anything, therefore even if he does something, since
this can be accomplished by awnn, the 7wyn is not prohibited.

"> The question is that since 7170 can be taken 7awnna, it should be permitted to separate it on naw, just as it is
permitted to separate the ¥ (according to X"2w" >")!
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‘fixed’; mmn was already taken; it is no longer 22v, therefore one may remove a 780 to permit
eating the rest -
= NAVYNNI TYIANT DIVM 1929V KXY DAV HY PN NINH HaN

However to begin ‘fixing’ the ®av, we do not permit it just because it can be

done awnna -
= (8,9 97 0W) PPPDT) NN P22 NIMTI NIV JPNT NUN INIDT IT29N)

For it is even forbidden to fix "X%7 on naw as is evident in P77 17122 PAD -
= NN T8 JIINDY AT 182 10Y 1Y Y9WT 2) DY 9N

Even though that regarding °X»7 it is permitted to look one way (and be w5»

wyn there) and eat on the other side -
1P YW NYY TINY NN 229 223 (3,0 91 PYINT NP P92 13790NTD

As the X723 states in the first a2 of P17 noon regarding »''2 that he ate a
vegetable leaf.

Summary
One need not separate (physically) »"1n from the P21 in order to eat the 1°91m.

Thinking it over
1. According to mpoin from where do we know that it is not necessary to

physically separate the n"n from the P21 (since he does not derive it from
2wn)?

2. °Xn7 as opposed to 72w may be separated 1awnn2 even for "1y WY MW WYn;
would one be allowed (according to N©0IN) to be 7AWINA "N W DN of *X1T on
naw?"’

' See there on X,1. »"1 ate some vegetables in JXw n°a without separating "wyn. The question there is how could he
eat it since it is *&n7. The & 3 suggests perhaps he was 77 7¥2 1°°¥ 1011 (to separate the *Xn7 wyn) and he ate X 7¥2.
This proves that this 907 of 121 1°°¥ 111 applies to “Xn7 as well, and nevertheless it is 710K to be *X17 Jpn7 on NAW.

"7 See w"wA and mwn nom.
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